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@Wus: & (SECTION A)
AGfSATIT-Saa Y (SUfSaTr-Sraaie)
Unseen Reading Comprehension 10 3AST:

1.  gifaRad Tensr qfScan JeaueHm I §8hdd for@q |
frfaRaa meme =1 ggeRt fou 1T Sl & 3T F%ha # fRau |

Read the following prose passage and write the answer of the given
questions in Sanskrit. 10

FARTYT ARG A | SFeIcd AR TANT: Tedeh & add |
3T FlH: dFTHeh: STfasehdy HENY HEURISH  SAfdHEEqUE 3T |
Afed | ST Afeash A foam: Siaeun Tme=d O UG, 19 SR
TATIEUT (data) Hehg (coding) YR | d: TWId hicl TSUHTAL
T fd fed qduEn aifed | STl e THE: SEuife: = for:
ﬁ@m:mﬁlﬁm(virus)mwmﬁﬁm:
U T AYd | 30 QY Fanfg qod demey ST AUt Srers g weer
sfafiay | ggkTSmg foase Jefi STSieigil (internet) favasferg ==
W%WW@W|
(31) THUH A | (e FTGAY)

T g I AT | (Fadt & )

Answer in one word. (Only two questions) I1x2=2
(i) e i feq for e sifeg 2

(i)  Tonfsesr famfiqg o1 deem ofed ?

(iil) FSTVERIAH_ 3T oh: ST(Heh: IAT(TShad ?

(F) qUiaTeRH ITA | (had TegIH)

o AR H IR ST | (ke &1 T)

Answer in a complete sentence. (Only two questions) 2x2=4

(i) ST Aieassh fommT: e ®90T T 2
(i) T TSI QU Wafd ?
(iii) oh TorTSeT: STeT GUEIG IR ?
3 P.T.0.




(d) o FI=SCH Fd IWYFH ek HEha fored |

39 o8 o fOIY 39w M F&pa | faflay |
Write the appropriate title for this passage in Sanskrit. 1

(3) Fnfcy™ A | (hadl TwTH)
foréamram ser AT | (et A )

Answer according to instructions. (Only three questions) I1x3=3

(1) ‘arfed’ ERIRIE Terama: Eﬁfﬁ %’{ ?

(i) IO T 3 g T fohy 2

(iii) TeEe I YT h: WI: I AT ?
(%) IR

~ ~

(@) gy

~

(1) IraSie™

~

(iv) II=8¢ qUad 9g&d &: Tauia: 3mma: ?
(%)
(@) o
() fosen

~




Wus: @ (SECTION B)
TEATCHEReRTIH (TTATeHe-3T )
Writing Skills 15 A

2.  onN uid faRaay s19: oo wesmaeHgRaen Wi 44: fored |
3 o forg e FrefaiRad o @ wesn # fou Tu wreq) skl wEEAT € U X
ﬂﬁzmﬁl

Complete the following letter written to your elder brother, with the help

of the words given in the box and rewrite the same. éx] 0=5

(i)

feregh:

(ii)

JOIHT: |

I (iid) , e AT qF FHIreht Afed 3fd 7= | Arariuad
qude o Gv) | e SIS e Ty,

(v) | Ha 3 (vi) ATesq | e
faw Ewen s @ 9= (vid) | wad: e
(viii) Tafd g o famam: | 3= 94 (ix) |

I fime: ad: S[HHAT: |

HId: (x)

FAg:
LEs

wigsafd, fooofta:, o, =, X 3w |, swiEsafd, e,

S, T, ITIIH |

5 P.T.O.




3. 9 Vgd 9 goeal Hes[WT YGTRISGHT HEiddl Usd dTel- d&hdd forad |

= o T e o qEe WeSWT H QU U WGl 1 HERdT € Ut H%ehd ATl

# Fufa Sifvw |
Describe the following picture in five Sanskrit sentences with the help of
the words given in the box below. Ix5=5

e L
5 .‘,:’.1‘ v

UM, Slefht:, Sfefsht:, YA, gaedd:, f&=:, e, sk, e,
TE, g&n, shisl<, TWER, wEd: |
AFAqaT (OR)
HeWIIETRIseMI A HHfeiad fowm sAftehca gsai: Hehdar: Thy
= |
oo ¥ fou Tu weqi i wEwar € fefaied o W ute g%hd 9l § T
Fg=as Ty |

Write a paragraph in five Sanskrit sentences on the following topic with
the help of the words given in the box. Ix5=5

MEBICERERERIC:
RSl
foem, omewEear, W, Ffgm, fommm, wy:, foemafa, omm, <,
foenfad:, Tm, ome= |




FYNTARGATH AR FRRAUTTAT S 1@ | (had ATRITo=IhH )
frfcTiad aTerll sl Tk | H TIATG hih [IRAT | (hadl i dTe)

Translate into Sanskrit and write the following sentences.
(Only five sentences) Ix5=5

() Tyargu e |
Father brings milk.
(i) 7 gFI T%hd 9Gd & |
Both of you read Sanskrit.
(iii) sl TH UTfIg ST@ |
Tomorrow Ramesh will go to Patliputra.
(iv) gd1 gl off ?
Where was Sudha ?
(v) H 99 %1 ¥ 9l |
All of you read in the classroom.
(vi) o1 o9 H ST 8 |
The dog fears from the tiger.
(vii) T H T A ?
May I go out ?

@us: T (SECTION C)

HATIGFAHTRIUTH (TTTIhH SAThIT)
Applied Grammar 25 g

FYIfARgaaTeRy {@igaaey |f-d af-afa=sg a1 sear foed |

(hacd ITTIISEIH )

fafafiga ot § W@ifera et § af=y steran afu-fosae e fafay |

(haet TR )
Write the underlined words of the following sentences after joining or
disjoining Sandhi’s. (Only four questions) 1x4=4

(i)  Hde §q + 97 TS |

(i) wrEry-foese: T Hi: |
(iii) B + 9 Iy |

(iv)  TTTaw M qEaes: |

(v)  ofn fg gite: + @ |

7 P.T.O.




IrefeRadaTey WarfgauerT autd faug a1 Yedfasheus: fuean fored |

(e Feegeam)
frferfiaa amet & Y@iferd wat =1 Tmm@ Steren faug fou o faswedt & & g
foafEu | (haat =) g)

Choose and write the correct compound or expounded forms of the
underlined words of the following sentences. (Only four questions) 1x4=4

()  Terys: sfd =l 7 S |
(%) food w5 == =
(@) fea: us:
(1) @ v I A
(i)  Ifed SgwEm: w7 |
() 3THE TH:
(@) 3¥HE 94:
(1) ITAT Iu:

o N

(iii)  TYshehTehl ISR |
(%) T = @@ =
(@) foh: = e 9
() < U =

(iv) Il Teh: T Tf&TOl: gaid & |
(%) ¥ AT
(@) wiform Jem
(1) fer sAfeshra
(v)  TH: Y 991, 9 9 |
(%) gq™
(@) &gm
(M) ™



ALTARIAATRY {EITEAUGHT Thid-Sel Hisy fawsa a1 3fud I fasheuw:
Tarcan fo@d | (hadt Te=gse™)

frefafga amel § T@ifehd UGl H Yepld-Scqal sl SISt a1 Yok Hish 3rad
ST foehedt @ g foiflaw | (haed =) )

Write the underlined words of the following sentences after joining or
disjoining suffixes to roots or words, selecting the correct answer from the
options given below. (Only four questions) Ix4=4

(i)  SATEHET |iESa |
(%) wfesy + 7
(@) @fEsy + e
() |fewT +7gY,

(i) TORE ar=d ger |
(%) &R +7qQ
(@) TR+
(M) &R+

(iii)  SATHSATG WITq Fhgwet |

(iv) gHd: Tsh: 53 GTfHeh: SATEHIA |

(v) Terfesent emey areafa |

9 P.T.O.




8. WS Y&d: Ue: IT=duNadH sheal AIARgd darg 4o forad |
ool | fou MU wegi I HEEA ¥ A= UREcH hid g MEfaRad HaTg i
RGE feflaw |

Rewrite the following dialogue changing the voice with the help of words
given in the box. 1x3=3

@ — @A TS ?
Hlar — 318 g 99 (1) |

@ - A (i) formel TG |
Hlar— T8 AT shg T |
@ — (i) AT qd: BATH AT |
i Al
T, TSIy, @A |
JAYAT (OR)

JARGATT STRIT ArINEd $od | (haed Tea9Y)
frefafaa et o area-ieds HIfST | (e i T99)

Change the voice in the following sentences. (Only three questions) Ix3=3
i)  TH: 918 YSid |

(i) AT ISTor <o |

(i) 378 v fer@my |
(iv) & qUIH wEa=d |
(v) Taen o eerfa |

9.  Auiffadicr=—ia Nadea i hrefaigheres: [ad | (had TRAaqeedq)
frefefad feT== o o Tami 1 qfd hrasiesh Seg) 9 i |

(Pt TR )

Rewrite the daily routine using words in place of figures.

(Only four questions) 1x4=4
(i) Tor@: wma: 9:30 e forme™ =B |
i) & F 7:15 JTEH YO =M |
(iii)  TRE: 9TE: 8:00 e AT AT |
(v) g 9w 5:30 ey |
(v)  cagd: T 9:45 e ardt ot |

10




=
10. IETARIAATERY RFEAMIH FoquTyed: 3fd: Feue: Tad |
(I TTTIEHH)
frfaRaa aret o fh Tl <l qfd wesw § fSU U o/ wgi o g il |
(W B: J)

Fill in the blanks in the following sentences with appropriate

indeclinable words given in the box. (Only six questions) éx6=3

i) W 3Ry s |

(i) T pERIGCIEN

Gi) _ gfte: wafd |

Gv) _ foedia 7 e

(v) |1 dg |

(vip waq_  fE=wufae

(vi) & g yafd |

(vii)) THST: J&dh TG hioTf |

HoSTHT

I, 9, &, ®i, TLIW:, W, IAEdd:, IEHM |

11.  AenforRaderey Wenfgarey swgn & | 35 ue foepeue: foear formea |
(hae T )
frfafaa sl § W@ifhd 98 oG © | Ug I8 ooy ¥ e fofem |
(et T I9)

Underlined words are incorrect in the following sentences. After selecting
correct words from the options and write the same. (Only three questions)
Ix3=3

(1) W SR WAt | (A /Ay )

(i) UGG I WIS Ff | (Y13 / W13T: / WISH)

(iii) o sfcrept: feremerd T | (STfieh / SRt / STeten)
(v) G & 390 TesIH | (s / e / sresd)

11 P.T.O.




12.

Qvus: ¥ (SECTION D)
fSa-Eaaey (Ufea-Taaie)
Reading Comprehension 30 AST:
FefaIRad e 9fScan JEauM ST HEehdd for@d |
frefafaa meme =1 gt fou TT WAl % 3T wha # fRau |

Read the following prose passage and answer the given questions in
Sanskrit. 5

Afed ST TM: | 9 TAYE: AW USYHA: JHid W | Thel b1y
JMEATIHHRV T W1 Fgad! ggaar TUgfs Jfd Ifadr | 90 e &1
U AT g | W1 ATHHNTeSN gNedl GTSedid P Suedl YEe WE —
“ThoriehehIll SATIMAUTE Held Foo: ? SENFEACIGHS Youdr | Ugeg 31
fadtar: wfiacaea 17

(1) UHUCH ITA | (hadl TIgIH)
T WG H I G | (FaA 31 =)

Answer in one word. (Only two questions) —X2
(i) F U : ToYA: Jafd & ?
(i)  Flgrd S T TR ?
(iii) HF Mg &1 foh ggst ?
(F) qolaTeRH ITRA | (Shadt TeHH)

U Je § IR T | (R T TH)

Answer in a complete sentence. (Only one question) Ix1=1
() ofgad G =ean yee fh wme 2
(i) Sfgadt grgaar = Iferar 2
(W) vedfasheuy: 3fuay 3 fecar forea | (Shad gosem)
fou T foemedt § @ 3fua SR e fafaw | (e A aw)

Choose and write the appropriate answer from the given

1

options. (Only three questions) Ix3=3
i) ‘Ot e o yaiue T ey ?

(%) Fhgwet

(@)

(m =h

12



(i) ‘Sfaar sfa fsramaee Hqug fohm 2
(%) ghgmdt

@) T

M) e

(i) ‘B 3fd deea b faemvmag wener weay ?
(%) T
(@) wIgH

~

(M) HHA
Gv) ‘@ sfa geer b fspamag st ey 2
() goaa
(@) fawsa
(M) e
13. ARG F& dlocdl JEauRATM 3T H&ha for@d |
ffafaa e o1 9 U T AT & 3T §8ha § fhaT |

Read the following poetry passage and answer the given questions in
Sanskrit. 5

SRS hH SAmHEay |
Tepel § G 8 fepadand e |1
(1) THUCH 3T | (had TTGIH)
T 35 H I T | (Fadt & )
Answer in one word. (Only two questions) —x2=1
(i) SRREESHE Tk g ?
(i) hIgy *H =RmERY wafd ?
(iii) T ITHSH HH ARM: 3fd HeAd ?
(d) qolaTeRH ITRA | (Shadt JeTHY)
U TR 1 3T ST | (R Th TA)
Answer in a complete sentence. (Only one question) Ix1=1
B PN g g < i ?

(i) HH=q: fob P ?

o~ ~ o~

13 P.T.O.




(|) Yealdeheus: 3fuaq I facar forea | (et Te=em)
fau U foehedt ® @ 3Ifaa ST g fafaw | (Fad @4 I+)

Choose and write the appropriate answer from the given
options. (Only three questions) Ix3=3

()  ‘foameferd’ sfa framresr shque f waq 2
(_05) N
(@)
(M) <

(i) ‘g@ <gw I ge: fh faersrden 2
%) gEHq
W) @

(
(
() =EmM:

(i) ‘FEq:’ 3 U h: YIA: Tedloh Id: ?
($) Jfiya:
(@) "H-d:
(M) 3I9Ia:

(iv) ‘G@EH 3caed Tob faatmug vare sged ?
() <&

(@) S1H

~

(M) g&q

14. ATARGd AT IfSaT TETIRAHM I F=haA for@q |
frfcTiad ATeaimeT i dgeRt TeT T JeT o 3T §%hd | [AfET |

Read the following drama passage and answer the given questions in
Sanskrit. 5

R — (W) 3Td T HAYAMH Jq U I: TSI | IoHa wy
TSNS T Harg T I-=sa: |

TR — 3N IR | O 9a | Y & A TG ? IR URIg A
Rrfs Tegspefia R wemaar faumn ware afems: $a:, o : o
e AT SAUSTEIUY g8 weuT: WA= YT Id: HY HISE:
faeng: Frofm s=ren &g &am: |

14




52

HIH: — (Foae™m) R fgqsr | JAdNad 1 d9 foRiwar Iq o
FASIISR IR H=IHE 999 |
I — Iq: HH A q Tehd: STEAT | 79 | w9 | 7 =smmd Hiedn,

(3)

(TresTgaTed Mg f&m: &) 9 HIs FaATe Aeagy: gat: |
AR ATHAY AR q 3T TTEGIV Jo3H o RS hedl
T STESehiTsTy | 37d: STehd A: aeIed |

THTCT A | (had TeIGIH)

T WG H I G | (FaA 31 =)

Answer in one word. (Only two questions) —x2=1
(i) ‘TEHT ANT: FISISH $fd TTE oh: HeRAM ?

(i) TR ufd ‘AAfgy® 3f0 *: Trargamd ?

(iii) TLET UM TqE HIgaq ?

QUiETeRA A | (hadd TTTHEY)

Ul qe § IR T | (R Th T9)

Answer in a complete sentence. (Only one question) Ix1=1

(i) fogmn ta o S RS Hd: ?

(i) &I I Yehd: STREAT ?

Yeafdeheus: 3fuaq I facar foraa | (Shaet Tv M)
fou T foemedt § @ 3t SR e fafaw | (e A a=)

Choose and write the appropriate answer from the given

options. (Only three questions) I1x3=3
(i) eI qo: ‘Warq 3T foham: shque Ry Sgead ?
(%) T
(@) s
() FAS(ET:
15 P.T.O.




(i) ‘oTqd Hiedw s formrsdg fopd ?
() T,
(@) ¥,
(M)  TSHPH
(i) AT ‘ore:’ e foh faaiiue wyeay 2
(%) 3R
(@) 9T
() e
(iv) ‘Segar’ 3id vee qaRvg foh g ?
(%) T
(@) do:
(m) frem

~

15. (@Ifgauar snyed TRAMHT Hod | (hadd TAadeead)
Gifehd 9al % YR T T FHI0 HIfT | (et =R 9)

Frame the questions on the basis of underlined words.
(Only four questions) Ix4=4

(i) AT g P 3 |

(i) YT SEESH e AR 3id Hed |
(i) |: FoSU HRH IGFR( |

(iv) 3% 3@ =ee] ETyaandr |

(v)  STcHeheATUY o0 X Y 31fse T $ATq |

16




EHE
E.

16.  Tes[d: gfaauert faear stenferfaavetierar: F== g |

oo § & AYfad qg gt HefaRad i seiiehl o 37 i Ui ShifrT |
Complete the prose order of the following two shlokas by choosing the
appropriate words given in the box. Lya=2

L STl s g | ’
AeaThcaHATeR feoea @reE o= ||
AT -
6) SHifed: TEON (i) Searteay (i)
SICESIPENGY) (waf=d) |

II. ¥ Soocdicdd: 99 TYdT gan = | Lq=2
7 Fatafed ® W R H = || ?
AT -
Fo(1) o UNEIH g@TH = (i) g: (iii)
HeIy T Afgaq (iv) T $AIq |

RES AL
B, SATeHA:, IRU=:, H, IO, glaved, To, W

gar (OR)
HS[UTT: TN Jeavaiehed qrane feraee = whear g4: foreq |

HSSNT <hl eIl & T & wiared § Tk Tl i gid e 31 faRan |
Rewrite after filling the blanks in the meaning of Shlokas with the help

of box. I1x4=4
ot 9 oot = AgameEda |
3¢ GidT TRl TFAvaaqy a9 ||
arane: -
ARk () wEaRn Gi) =iy oHEgan WS |
g g (iid) AU U Hald (iv) Ay
TEal: GRId, YT Fogew: foafashet 31y fasmmeE: 3 S |
HeSTHT

fauerarm, Scael, WRIgEWT:, ITEdShIA

17 P.T.O.




E.
17.  difafed-sars agfad-seao fored |
frfafaa swemw 1 agfua e § fafee |
Write in right order of the following parts of story. 1y8=4

(i)  Tafeen: wleror: sify foee wdrgell e gogen gufHiEd erd Faf |
(i) o ST T A4 T8N |

(i) h: T g T ada ueh: IR AT o Yo g |

(iv) g @ sacdaa: gmafq, wifa W femfy swqaemd: va fossfa |

(v) a0 gEaR e gaf=d |

vi) Hg: W@ T TEdHEsd W IR ficcl JEIES: |

(vii) TIHd 9T: IR R &g qaf |

(viil) Ted STEHTA J&ATd 3T IR e huMHTRs I7: Fafiaf el |

18. F Tr forgami yert wiuer ‘@ @y fafgars af=, @it semssaor aqe
for@a | (Shaet geem)

‘F Ty § faftgd uei & Wiy g ‘@ @y § forg U E | IR IATshE 9 3k
Tmer fafeu | (Shadt @ I )

Synonyms of the words of column ‘Ka’ have been given in column ‘Kha’.

Write in order in front of required words. (Only three questions) 1x3=3
& ch
NEE sty
Sreftere: 3
315, g,
g4t (OR)

18




IrgIfIRgqareRy WETfgaueHl Saege St foacr foea |

(hadd JTTAIY)
frafaRaa s o Waifera gl & yamar 3fa 1ef i gae fafeaw |
(haet i T T)
Write the appropriate meaning after choosing the underlined words of
the following sentences. (Only three questions) Ix3=3
(i)  TTe® iy forfeud TeyeYm |
(%) TSI,
(@) 1A,
(M) uwE

(i) oI, AYE T THE |
(%) Ig!
(@) ufees !
() fr=!

(iii) ~ 3T8 TGIgEY SeH! GRe =iy |
(%) it

(@) W
()  3ThEHTq

~

(iv) o | 3refiery Taq |

LN

() 3@y
(@) @y

~

() ety

~

19




